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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021 

Third Semester 

Economics — Main  

MATHEMATICAL METHODS — I 

(For those who joined in July 2017 onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 1 = 10 marks) 

Answer ALL questions. 

1. Cx £Põ Gs  

 (A) 0   (B) •iÄÖ 

 (C) •iÄÓõ   (D) 1 

 The number of primes is  

 (a) 0   (b) finite 

 (c) infinite   (d) 1 

2. 4, 6, 8, 9, 10, 12, 14, 15 ____________ Gß£x  

 (A) P»¨¦ GsPÒ  (B) £Põ GsPÒ 

 (C) ]UPö»s   (D) PØ£øÚ GsPÒ 
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 4, 6, 8, 9, 10, 12, 14, 15 ____________ are  

 (a) composite numbers 

 (b) prime numbers 

 (c) complex numbers 

 (d) imaginary numbers 

3. \©©õÚ Pn® Gß£x ____________ öPõshx  

 (A) ©õÖ£mh Gs  (B) J÷μ Gs 

 (C) §äâ¯ Gs  (D) •iÄÓõ Gs 

 Equivalent sets have  

 (a) different number  (b) same number 

 (c) zero number  (d) infinite number 

4. Áøμ£h[PÒ ‰»® Pn® ©ØÖ® Pnzvß 
ö\¯À£õkPøÍ ____________ ÂÍUSQÓx  

 (A) Áøμ£h[PÒ  (B) ¤μuõÚ Pn® 

 (C) öÁs Áøμ£h®  (D) EmPn® 

 Sets and get operations can by represented by 
drawing diagrams is  

 (a) graphs   (b) prime set 

 (c) venn diagram  (d) subset 
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5.  x US   JxUP¨£mh AøÚzx ©v¨¦PÐ® 
\©zxÁÚ©õÚ Esø©¯õP C¸¢uõÀ ¤ÓS Ax 
J¸ 

 (A) Aøh¯õÍ®  (B) \©ß£õkPÒ 

 (C) ©õÔ   (D) ÂQu® 

 If the equality is true for all values assigned to x , 
then it is called an  

 (a) identity   (b) equations 

 (c) variable   (d) ratio 

6. JßÖ ©ØöÓõßÔß uø»RÇõP ©õÖ£k® £m\zvÀ 
Cμsk AÍÄPÒ ÷|º©õÓõP ©õÖ£kÁx  

 (A) {ø»¯õÚ ©õÖ£õkPÒ 

 (B) ÂQu® 

 (C) uø»RÌ ©õÖ£õkPÒ 

 (D) ÷©ØTÔ¯øÁ GxÄªÀø» 

 Two quantities are said to vary inversely if one 
varies as the reciprocal of the other is 

 (a) constant variations 

 (b) proportion 

 (c) inverse variations 

 (d) None of the above 
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7. Y ß SÖUSöÁõmk –9 ©ØÖ® \õ´Ä 2/3 GÛÀ, 
÷|º ÷Põmiß \©ß£õk   

 (A) 2723 −= xy   (B) 323 −= xy  

 (C) 93/2 += xy   (D) 923 += xy  

 If y  intercept is 9−  and slope is 2/3, the equation 

of the straight line is  

 (a) 2723 −= xy   (b) 323 −= xy  

 (c) 93/2 += xy   (d) 923 += xy  

8. £μÁøÍ¯zvß S ¦ÒÎ AøÇUP¨£kÁx  

 (A) PÁÚ®  (B) ¦ÒÎ 

 (C) ÷|º÷Põk  (D) Cøn÷Põk 

 In parabola, point S is called 

 (a) Focus   (b) Point 

 (c) Straight line  (d) Parallel line 

9. A J¸ ÷Áø»ø¯ 10  |õmPÎ¾®, B A÷u 
÷Áø»ø¯ 15  |õmPÎ¾® ö\´QßÓõº. C¸Á¸® 
Cøn¢x A÷u ÷Áø»ø¯ GzuøÚ |õmPÎÀ 
ö\´ÁõºPÒ  

 (A) 5 |õmPÒ  (B) 8 |õmPÒ 

 (C) 9 |õmPÒ  (D) 6 |õmPÒ 

 A does a work in 10 days and B does the same 
work in 15 days. In how many days they together 
will do the same work? 

 (a) 5 days   (b) 8 days 

 (c) 9 days   (d) 6 days 
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10. ¹. 540 ¤À öuõøP°À Esø©¯õÚ uÒÐ£i ¹. 
90. Á[Q¯õÍ›ß uÒÐ£i  

 (A) 60   (B) 108 

 (C) 110   (D) 112 

 The true discount on a bill of Rs. 540 is Rs. 90. The 
banker’s discount is   

 (a) 60   (b) 108 

 (c) 110   (d) 112 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 250 words. 

11. (A) 14 −x  I 5 BÀ ÁSUP •i²® GÛÀ x ß £Põ 
5 Gß£øu {¹¤. 

  Show that 14 −x  is divisible by 5 if x  is 
prime to 5. 

Or 

 (B) ( ) ( ) abbxaxxbxax +−−=−− 2  GÚ {¹¤. 

  Show that ( ) ( ) abbxaxxbxax +−−=−− 2 . 

12. (A) Pnzvß £s¦PøÍ GÊxP.  

  Write the properties of sets. 

Or 
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 (B) { } { }7,6,5,4,5,4,3,2,1 BA =  

{ }9,8,7,6,5,4,3,2,1,0∪  GÛÀ  

  (i) BA ∪  ©ØÖ®  

  (ii) ( )1BA∪  PõsP. 

  If { } { }7,6,5,4,5,4,3,2,1 BA =   

  { }9,8,7,6,5,4,3,2,1,0∪  find 

  (i) BA ∪  (ii) ( )1BA∪   

13. (A) wºUP  048162 =+− xx . 

  Solve 048162 =+− xx . 

Or 

 (B) \©ß£õmøh wºUP 

  
55
523

=−
=−

yx
yx

 

  Solve the equations :  

  
55
523

=−
=−

yx
yx

 

14. (A) RÌUPsh ¦ÒÎPÐUQøh÷¯ EÒÍ yμzøuU 
PõsP ( )3,2  ©ØÖ® ( )7,5 .  

  Find the distance between the following pair 
of points ( )3,2  and ( )7,5 . 

Or 
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 (B) Cøn÷PõkPÒ ©ØÖ® ö\[SzxU ÷PõkPÒ 
£ØÔ ]Ö SÔ¨¦ ÁøμP. 

  Give a brief note on 

  (i) Parallel lines and  

  (ii) Perpendicular lines. 

15. (A) GÎ¯ ÁmiUS 3 BskPÎÀ öuõøP ¹. 800 
À C¸¢x ¹. 920 Tku»õÚx. Ámi Ãu® 3% 
AvP›zuõÀ QøhUS® öuõøP GÆÁÍÄ?  

  A sum of Rs. 800 amounts to Rs. 920 in 3 
years at simple interest. If the interest rate 
is increased by 3% it would amount to how 
much? 

Or 

 (B) Á[Q¯õÍ›ß uÒÐ£i ©ØÖ® 8 ©õu[PÐUS 
ö\¾zu ÷Ási¯ öuõøP°ß Esø©¯õÚ 
uÒÐ£i •øÓ÷¯ ¹. 120 ©ØÖ® ¹. 110 
GÛÀ öuõøP ©ØÖ® Ãu \uÃuzvøÚ PõsP. 

  The banker’s discount and the true discount 
on a sum of money due 8 months hence are 
Rs. 120 and Rs. 110 respectively. Find the 
sum and the rate percent. 
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PART C — (5 × 8 = 40 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) J¸ Á›ø\ ö\´¯¨£mh ¦»zvß £s¦PøÍ 
ÂÍUSP.  

  Explain the properties of an order field.  

Or 

 (B) R÷Ç EÒÍ GsPÒ ÂQu•Ö GsPÍõ? 

  (i) 25.6  (ii) 3  

  (iii) 3/1  9 (iv) 2.78 

  Are the following rational numbers? 

  (i) 25.6  (ii) 3  

  (iii) 3/1  9 (iv) 2.78  

17. (A) 50 ©õnÁºPÒ öPõsh ÁS¨¤À,  
30 ©õnÁºPÒ ö£õ¸Íõuõμ®, 25 ©õnÁºPÒ 
Pou®, 10 ÷£º Cμsøh²® 
GkzxUöPõÒQÓõºPÒ. G¢uöÁõ¸ 
£õhzøu²® GkUPõu ©õnÁºPÎß 
GsoUøPø¯U PõsP.  

  In a class of 50 students, 30 students take 
economics, 25 students take mathematics 
and 10 take both. Find the  number of 
students taking neither of subjects. 

Or 
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 (B) \õº£»ß EÓÄ ©ØÖ® \õº£»ß Pn® £ØÔ 
_¸UP©õP ÂÍUSP. 

  Briefly explain the functional relation and 
functions of set. 

18. (A) J¸ |õmiÀ ÷\ª¨£uØPõÚ •øÚ¨¦ 
öÁÎ¨£õk S = 0.2 Y – 50 ©ØÖ® •u½miß 
AÍÄ I = 0.1 y BÀ ÁÇ[P¨£kQÓx. A[S 
Y Gß£x Á¸©õÚ®, Á¸©õÚzvß \©{ø» 
AíøÁU PõsP.   

  If the propensity to save in a country is given 
by the expression S = 0.2 Y – 50 and the level 
of investment is given by I = 0.1 y where y is 
the income, find the equilibrium level of 
income. 

Or 
 (B) \©ß£õkPÎß ÁøPPøÍ _¸UP©õP ÂÍUSP. 

   Briefly explain the types of equation. 

19. (A) ( ) ( )1,1,2,3 −− QP  ©ØÖ® ( )4,5−R  
öPõkUP¨£mkÒÍ ¦ÒÎPÐUS 
÷|º÷Põhø©UP.  

  Show that the following points are collinear, 
( ) ( )1,1,2,3 −− QP  and ( )4,5−R . 

Or 
 (B) ö£õ¸ÍõuõμzvÀ ÷|º ÷Põmiß £¯ß£õmøh 

ÂÍUSP. 

  Explain the application of straight lines in 
economics. 
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20. (A) ÷u´©õÚzvß ÁøPPøÍ _¸UP©õP ÂÍUSP.  

  Briefly explain the types of depreciation. 

Or 

 (B) BskUS 12 ½ GßÓ ÂQuzvÀ 6 
©õu[PÐUS J¸ SÔ¨¤mh öuõøP°À GÎ¯ 
Ámi ©ØÖ® Esø©¯õÚ uÒÐ£iUS® 
EÒÍ Âzv¯õ\® ¹. 25 BS®. öuõøPø¯ 
PõsP. 

  The difference between the simple interest 
and true discount on a certain sum of money 
for 6 months at 12 ½ for annum is Rs. 25. 
Find the sum. 

—————— 


